TNPSC GROUP -1 PRELIMINARY
TEST BATCH 2020
TEST XIill: MENTAL ABILITY SOLUTIONS

1. The sum of the present ages of a father and his son is 60 years. Six years ago,
father’s age was five times the age of the son. After 6 years, what is the son’s age?

a. 12 years b. 14 years c. 18 years d. 20 years

SHHendH BEID  Halel  SBEUTMSUW  aUBHIHTET  FBHL 60  GUHLBIGHE. 6
QUHLBIBEDHDHE (Lpeil], SHhHeSHullel euuIFH LSl alwendll Gumed 5 LG eeled 6
QUHLBIBEHSGSGL LIB@ OHeN6T aILIG| 616016017

a. 12 aummLmiser b, 14 eugpLmicmser c. 18 au(pL_misait d. 20 eu(pLmimer
Explanation:

Let the present ages of son and father be x and (60 -x) years respectively.

Then, (60 - x) - 6 =5(x - 6)
54 - x =5x-30

6x = 84

x = 14.

Son's age after 6 years = (x+ 6) = 20 years.

2. The ages of Vivek and Sumit are 2:3. After 12 years, their ages will be in the ratio
11:15. The age of Sumit is
a. 32 years b. 42 years c. 48 years d. 56 years
alGsusds oBmIb &0sH & Ameufler euwgseler alSsbd 2:3. 12 HLWIHHEHHG
LIB& SleuTHellen euwgH ausHD 11:15 eleied SHOSHHGT UL
a. 32 eu@pLmIGeT b. 42 eu@pLmisber C. 48 eurpLmibel d. 56 GUHLBIGBEIT
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Explanation:
(C) Let their ages be 2x and 3x years

e+ 12 11

Ix+12 7 15
= 15(2x+12) = 11 (3x+12)
= 3x = 48
' x= 16

. Age of Sumit = 3x =48 years

. Ratio of ages of Muthu and Karthi at present is 5 : 3. But 6 years ago that
ratio is 3 : 1. What is the ratio of their ages after 5 years?

A.5:4 B.10:7 C.10:8 D.4:3

WS LBEID  &MTHLH  HCwmlear sBOUTMSW  euwIGISaTeEr alSFHD 5:3. HLermed
6 GUBLMESEHSG (W1 DHGa 3:1 el  BBHHDHH. 6oled, SBOUTHHHEH 5
AUBLEISEHSGSL LIBEG DieUTHEhemLUl aUULISHIH6T6 aldHD eleaiameuTs S(HHEGLD?
A.5:4 B.10:7 C.10:8 D.4:3

X703 L 5r-6=9x-18 S4r=12 = x=3
3x-6 1
Muthu’s age = 5 x 3 = 15 years
Karthi's age = 3 x 3 =9 years
After 5 years age will be 20 : 14
-~ 10:7.

. 3 years ago the average age of a family of 5 members was 17 years. After A baby
born, the Average age of the family is the same today. The present age of the
baby is

a.1year b. 1% years c. 2 years d. 3 years

PGl QU(HLBIBEHSHEG (peT 5 BUT OFmewiL GHOBWuUSHH ST Frafl euwigd 17 euHLBIS6N.
Qb Gwbhmd Upbhsd Uar DbGhbusSHer ggrgl  eawgid 6% HTer  elelev
DIGHGWPHmBUIeET HBOLTHHW UL

a. leu(pLLb b. I%G)J@I_Lb C. 2 QUBLID d. 3 eu@mLID
Explanation:

Given that,

3 years ago, the average age of 5 members =17 years.
Total present age of 5 members =17 x5 + 3 x5 =100
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Born on new baby , the average age of 6 members = 17 years.
Total present age of 6 members =17 x 6=102
= Present age of child = 102 - 100 = 2 years

. At present Abi is twice as old as Reeta. After seven years their age difference is 5

years. The present age of Reeta is

a.5 b.7 c.9 d. 10

e oflullerr suwg fLmaler suwend Gumev & WLMHIEG 7 6U(HLHIGEHGHE L6t
SlalTsemer augk alHHWTFD 5. elelled FLLTaleT Eeenmul 6UUIG 61656
a.5 b.7 c.9 d. 10

Explanation:

Reeta age = x

Abi age =2x

Age difference =5

2x+7)-(x+7)=5

2x+7-x-7=b

x=D5

. The ages of A and B are in the ratio 6:5 and the sum of their ages is 44 years. What
will be the ratio of their ages after 8 years?

a.5:6 b.7:8 c.8:7 d.14:13

A, B saafllar g aldsd 6:5 Seelmafar augiseiear gmhdHe0 44  SLewIHH6N
ctelley, 8 Suemi(hdEhdGL LIBE Seualmeufen auwgiseflesr aldsd wmg?

a.5:6 b.7:8 c.8:7 d.14:13

Explanation:

6
A'sape = [ 44 » — | years
. ( 11)3'

= 24 years
And B’s age = (44 — 24) years
= 20 years
Ratio of their ages after 3 years
(24 + 8)
N (20 + 8)
32
- 98
8
T
=8:7
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7. If the ratio of the ages of son and father in 2014 and 2022 are 1:4 and 3:8
respectively then the sum of the ages of son and father in 2010 is
a.42 b. 43 c. 50 d. 45
2014 wBmId 2022 LW HT BBID HHewd DHCWTTer euwgiseier aldHmiber
wemmGuw 1:4 1oBmIb 3:8 elelled 2010 QD SLewwI(H ST LOBBID HHewd DSHCuITH 6
UWLIGHIH6M6T Fn(BSH6L.

a.42 b. 43 c. 50 d. 45
Explanation:
In the year 2014: Son & Father ages be x and 4x.

x+8 3

=— = 8x+64=12x+24 = 4x=40 = x=10
4x+8 8

2014: Son’'sag=10 &  Father’s age=40
2010: Son’s age=6 &  Father’s age=36
Sum of their ages = 42 years.

8. The ages of A and B are in the ratio 3:1. Twenty years hence, the ratio will be 2 :
1.Their present ages are...
A. 60 & 20 B. 30 & 40 C. 65 & 25 D. 50 & 20
A oppib B uler smGurensul euwigl 3 ;1. 20 SeWIhHEHHGS LIBG, SiauTserer
auwgl &g 2 : 1, aeled SeuTseaier SBOUTMSHW UL 6T6l66NT6Y?

A. 60 & 20 B. 30 &40 C. 65 & 25 D. 50 & 20
Explanation:

Let Present ages of 3x and x years.

3x+20 2

=— = 3x+20=2x+40 = x=20
x+20 1

Their present ages are 60 & 20.

9. An article is sold at a gain of 15%. Had it been sold for I 27 more, the profit

would have been 20%. The cost price of the article is

a.< 500 b. X 700 c. X540 d.X 545

@ QurmeT 15 alpsst® BeumudbHBG alBumer CFLIWILGHEBH. Sig Gwsvd 27
pUTWI  SIFSOTE  alBuemer  CFLWlIULHBSTD, @Geomud 20 al(psSTLTS
B BHHAHBGWD. DbHHL GuThHeller SIHs alenev 6reTer

a.< 500 b. X 700 c. 3540 d.X 545
Explanation:
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Let cost pricebe z

15z
fit = —
PHOE = To0
Ifit was sold for Rs. 27 more,
20z
fit = —
PO = 100
20 15z _
100 100
T
— =27
100
T
50 = 27
c.x = 540

10. A television set was sold for X 1,170 after giving successive discounts of 35% and
10% respectively. What was the marked price?
a. 1800 b. 1700 c. 2000 d. 1900
QFHTLT  HoimepLigHeT (WedmBBW 35% wBmpd 10% @By @ OHTenevdHsT FILI
Ouly h.1,1705@ alIB&LILLL &I 6T6led, DIH6T GHBISHDH allensv 616607

a. 1800 b. 1700 c. 2000 d. 1900
Explanation:
Let Marked Price be x Rs.
ex 225 2 1170
100 100
x=2000

11. A trader buys an article for Rs. 1,200 and marks it 30% above the C.P. He then
sells it after allowing a discount of 20%. Find the profit percent.

A.5% B. 4% % C.4% D. 6%
o elwmumfl @ Oummenen 51,200 eutTmdlerT. e DIH6T DL SHalmeudd Goed

30% G¥Hs almevdd 20% Seiepuy QBETGSABIT. alBm  elemevulier eomubd %

6TGOT60T !
A.5% B.4% % C. 4% D. 6%
Explanation:
30x20
30-20- 22 _ 49 Profit = 4%.
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12. A Trader has 500 kg of rice, part of which he sells at 8% profit and the rest at 18
% profit. He gains 10 % on the whole. The quantity sold at 18 % profit is

A.100 kg B. 200 kg C. 300 kg D. 400 kg

RH UNBT Sl (elfel @@h UGS Sflfeoow 8 FHaldls emTuUSHHBGWD Henus 18
FHaldFH OTUSHHBGWD alBumer GFUISHHe0 OoThHpeTen 500 HGeomr ofiFsg 10
FHalals eumuD CUBBTT. SeuT 18 FoHaldls TuSHHBEG alBp Dfdullear SiemeuTers?
A.100 HGeor B. 200 &G@eur C. 300 &Geur D. 400 &Geur

Explanation:

.
7N

Mean
10%
18-10 10-8
5 :E, =2
4 : 1

500
The quantity sold at 18 % profit TXI =100kg

13. If 20% discount on the marked price and then another 5% discount on the new
price is given then the overall discount is
a.22% b. 23.5% c. 24% d. 25%
GMHs almeouledmba 20%  HetepLguid, BObs usH  alemeouledmbal Guweid 5%
SHEMEBLIQUILD OBTHHSLILLLT6D OLOTHHHHD H6TEMHLIG

a.22% b. 23.5% c. 24% d. 25%
Explanation:
Marked Price=100

80 95

00X—x——=176

Discount = Marked Price - Selling Price
=100 -76 =24%
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14. A man sold two gas stoves for I 8400 each. He sold one at a gain of 20% and the
other at a loss of 20%. Find his gain or loss %in the whole transaction.
a. Neither Profit nor Loss b. Loss of 4%
c. Profit of 4% d. Loss of 16%
QHeUT @ efleumu] SIBULS6T eelbleuTaiempuild 84005@ alB&S@IBIT. (PHe0 DiBLIENL
20% BeomusABSH wBBms 20% BLLSIHBSD aIBAGBIT cafled SeOTUD DLV
BLL FHAHHMBUID SHTEIRLD.
Explanation:

20-20-22%20_ 44

15. A sells a bicycle to B at a profit of 20% and B sells it to C at a profit of 25%.1f C
pays Rs. 1500, what did A pay for it ?
a. Rs.825 b. Rs.900 c. Rs. 1100 d. Rs. 1000
A @m WHeaemigenuwl B-db@ 20 Fspels SeomusHBd IBdmri. B omps 108
auemigemwl C-&@ 25 oHeis QeumusaBg aIBdpnr. C opgh WS eauamngssts @h.1500
QBTBSHSTe0, SISBHTE A (BThHDH el 6lelalerne,?

a. a.825 b. «5.900 c. ep. 1100 d. . 1000
Explanation:
A pay for bicycle be x Rs.
x><@><g =1500
100 100
x=1000

16. If the cost of 12 articles is equal to the selling price of 10 articles, the profit
percent in the transaction is
12 Gum(peiseailer eaummislwl alemevdd 10 GummeTseailer alBm aleneudE &L 616160
BbhH AIWTUTISHSHE0 FHMLBGWD 6OTLD FHATHLD?
a.18% b.162/3% c. 20% d. 25%
Explanation:
Let S.P.of 1 article =Rs. 1.
Then, C.P.of 12 articles = S.P.of 10 articles = Rs. 10
S.P.of 12 articles = Rs. 12

c.Profit=Rs. 12 — Rs.10 =Rs. 2

>
-Profit % = (1_::} P 10{}) % = 20%
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17. A man bought an old typewriter for I 1200 and spent ¥ 200 on its repair. He
sold it for ¥ 1680. His profit per cent is:
A. 20% B. 10% C. 8% D.16%
@@ BUT @b uempwl SULFa Quilenw I 1200 @ aummhid SIS0 LIRS BHHID

QruiugmE X 200 GFevey GFuIg, Swsd X 1680dH@ alBumer QFUISTT.  SieumHeDL U
B0 eSS (h:

A. 20% B.10% C.8% D.16%
Explanation:

According to the question,

Cost price = 1200

Repair = 200

Total Cost price = Rs. 1400

Selling price = Rs. 1680

Profit = 280
280
Profit Yo = 100
rofit % 1400 X
= 20%

18. The cost of a TV is Rs. 30000. The company offers it in 24 months, but charges
10% interest. Find the monthly installment the purchaser has to pay.
a. Rs. 1500 b. Rs. 1200 c. Rs. 1600 d. Rs. 1400
Qb  OFpTmevdsETL A GQuiuisr  elewev Rs. 30000. @ moeuend  10%
BDHOHTHmU UL IQUIL 6T 24  1THS SHUMGMIWTHS HJ6UTD  CTHIH@IBH. D0
uThIGUaT OFasHs Gouemigul LOTHS SHeEUM6NT 6161666 ?
a. Rs. 1500 b. Rs. 1200 c. Rs. 1600 d. Rs. 1400
Explanation:
Actual Cost+Interest
No.of Months
PNR _ 30000x2x10
100
30000+ 6000 36000
24 =

EM.I=

Interest= = 6000

EM.I= =1500

19. If A’s height is 25% less than that of B, then how much percent is B’s height more
than that of A?

A) 50% B) 45% C)221/3% D) 33 1/3%
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A-ulesr o wiporeng B-uler 2 wigpsaded 25% Gomeurs o etengl eefled B-ullesr o wigid
A-WlaT 2 wpHEHe0 eT6laleTe]| FHAHID DIHBOTEH 2 6iTendl?

A) 50% B) 45% C)221/3% D) 331/3%
Explanation:

100xR 100x25 10025 1

= = =33—%
100-R 100-25 75 3

20. The boys and girls in a village are in the ratio 3 : 2. If 10% of the boys and 25% of
the girls are literates, find the percentage of students who are not literate
(A) 80% (B) 84% ©) 72% (D) 60%
QRH SHITLSHHD DLewiHeT LOBBID OuewideT 3 : 2 6B aldSHHHe0 o sitener. E)F60
oleisefled 10% @D Guewisaied 25% URHDHaITH6T efafled LglLme B6e060TdH
LoTewIT&SIWITN&T FHANSIFHLD 6l6iT601?

(A)  80% (B) 84% C) 72% (D) 60%
Explanation:
Let, Total No.of Students = 100.

100

No.of Boys = —%3= 60

No.of Girls= %x 2=40

No.of Literate(Boys)= 60x% =6

No.of Literate(Girls)= 40 x% =10

Total No.of Literate= 6 + 10 = 16
~.Percentage of students who are not literate = 100 - 16 = 84%.

21. Due to increase of 30% in the price of a colour TV the sale is reduced by 40%.
What will be the percentage change in income?

A.10% increase B. 10% decrease C.35% decrease D. 22% decrease

P euewient GpTemevdstl 8 Gl iguieasr almeoulsd 30% oiFPslshsster 40%  alBuemen

GOBHSH 6T6al60 UHATUIED GBUBLD LOTHBBHMS FHAHHHED Fnml.

A.10% oMy B.10% @omsey C.35% @ommsey D.22% @asey
Explanation:
30 40 30%40

100

- 22% decreased.

=-22%
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22. If x% of y is equal to z, Then what percent of z is x?

a v b. -7 c. 10 d 100°

100 1002 y y
Y& X% sSeiHnaigH z&@ S 6afled X 6aiLFH Z-60 eIHHmen FHaiHh?
a b. -2 c. 100 q 1ov°

100 100 y y
Explanation:

P R x _ 100
xtoofy=z= e et e o .

. Required percentage = G X 100) 0h = (i;i X 1EIIJJ 0p = (1?_}1 ] %

23. 15% of 578 + 22.5% of 644 =7

a. 2314 b. 231.6 c.231.8 d. 233.6
578 60 15% + 644 60 22.5% =7

a. 2314 b. 231.6 c.231.8 d. 233.6
Explanation:

13% of 578 + 22 5% of 644

15 225 1
= 86.7 + 144.9
= 231.6

24. 00.15% of 33%% of Rs. 10,000 is

a. Rs. 0.05 b.Rs. 5 c. Rs. 105 d. Rs. 150
. 10,000 —60 33%% - o0 0.15% -6 FHIewLIS SHTEwHIH
a. Rs. 0.05 b.Rs. 5 c. Rs. 105 d. Rs. 150
Explanation:

_ 0.15 100
Required answer =———x——x10000= 5

200
APP&S LD
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25. In an election contest between two candidates, 10% of total voters did not take
part. The candidate who was elected got 60% of the votes casted. If he got 180
votes more than his opponent, find total number of voters.

a. 300 b. 900 c. 1000 d. 1800
@renih  CeulumenTaeEnsEd SenLulevmer @  BxTHeded, 10 FHeldH eUTHBTENTHET
UTSH B 611 HHaT606M6V. Ceuppll  Qump  GeulumenT, uLleurternr GLOTHSH UTHGHH6M60 60

FHABHHMBL  CQUBMI(HBSMTT. ST FHeitgmienL wl  Gumily Geulumeneny el 180
UTHGHFB6IT FnBHeVTHL CUBNBIHSHBTT e6lled, OOTHS UTHBT6NTHT 6IdHHemenr GUIT?

a. 300 b. 900 c. 1000 d. 1800
Explanation:
Sol. (c) Votes casted = 100% — 10% = 90%

Votes 1n favour of winning candidates = 60% of 90% of total votes

Votes in favour of opponent = 40% of 90% of total votes
Dafference = (60 — 40)% of 90% of total votes = 180 = 20% of 90% of total votes = 180
100 100

- Total voters = 180 x —x—— = 1000
90 20

26. The difference between 78% of a number and 59% of the same number is 323.
What is 62% of that number?
A. 1037 B. 1054 C. 1159 D. 1178
Qb GUUILL eewieniienr 78% wBBID 59% & e Cuwrenr elgHwngd 323 eeied
9185 erewienilen 62% oaTer WAL eTelaIeTaD ?
A. 1037 B. 1054 C. 1159 D. 1178
Explanation:
Let the number be x.

According to the question,
(78-59)% of x =323

Therefore, b — w = 17[][]

Therefore. 62% of 1700 = w — 1054

27. If numerator of fraction is increased by 20% and the denominator is decreased by
5%, the value of the new fraction becomes 5/2. The original fraction is:

APP L0
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a 2 b. = ¢ 2 d 2

19 18 48 95
@ Uaaisdear 0s51@d 20 soHaish HselsatuBaBg. H6%H FLWD DiSHa@ienL Wl
UGFH 5 Foeisld @GHmBsaluGdBg. b0 UHw Uaeibder waHiy 5/2 Su@l.
6TedlleV, cLpev  LiedTeurid

a 24 b. > 2 48
19 18 48 95
Explanation:

Let the fraction = g

According to the question,
T x 120

y x 05
r  5x95

y  2x120
r 95

y 48

5
2

28. A sum 817 is divided among, A, B and C such that A receives 25% more than B
and B received 25% less than C. What is the A share in the amount?
A. 228 B. 247 C. 285 D. 304
(5.817 A, B, CaeLiNsaeMsa LGS MBS A-5gdenL_d@GLd OpTensB-2
25 % 918 s10.B-d@dem_s@ib 051ansC-23 all25 % Gamseayeailed A-6 LIBIGUWITS?

A. 228 B. 247 C. 285 D. 304
Explanation:

(e) It B recerves T 100, then A receives = 100 +25=125

If C recerves T 100, then B receives = 100 —25=173
A:B=125:100=5:4, B:C=75:100=3:4

SACB C=15:12:16 = A'sshare= L—: < 817 =3 285

29. If A exceeds B by 40%, Bisless than C by 20%, then A : Cis:
A.28:25 B.26:25 C.3:2 D.3:1

A et wFHy B eowr el 40% s, B uler wdHiy C x ol 20% Gempse] eeflled
A:C aldsd wrg?

A.28:25 B.26:25 C.3:2 D.3:1
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Explanation:
Given,
A=B+40% of B
A =140/100*B
Now,
A/B=14/10
B=C-20% of C
B =80/100 *C
B/C=8/10

So,
A/C=(A/B)*(B/C) = (14*8) / (10 *10) = 28 : 25.

30. The population of town 2 years ago was 62,500. Due to migration to big cities, it
decreases every year at the rate of 4%. The present population of the town is:
A. 56,700 B. 57,600 C. 58,800 D. 60,000
R  BBEIHDHET  LHHET0BHTNS DTG  PMIGIEHHG (el 62,500  Guflw
BEHIEIBEHHEG — BLIDOUWTST  DHHBIEHHET  DHHNMOBTMS  ewihdg 4%
GMBIBSHI. DIHHBIHH 6 SBOLITMHSU! LD&HHTOSTNS 6161161616, ?
A. 56,700 B. 57,600 C. 58,800 D. 60,000
Explanation:
Population 2 years ago = 62500
Rate of decrease = 4% per annum

Therefore, present population

PRt
=62500%x|1 - —
100
=625D0x%x%
25 25

= 57600

Hence, the present population of the town is 57600.

31. The value of Xerox machine depreciates at the rate of 10 % per annum. If the cost
of machine at present is Rs. 75,000 then what was the value of machine before 2
years?

a. Rs. 90,000 b. Rs. 92,600
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c. Rs. 93,800 d. Rs. 95,000
R  BHL (IBSHGD BQuUbHTHHET  almev  emihhG 10 FHAIHD  (GHOBIBSI.
SHOUTH obs QUIbSTSSleT WS . 75,000 eceiled, 2 UMBHEDSEG P Db
BUbBIHSen AL ersiien?
a. ap. 90,000 b. 5. 92,600
c. em. 93,800 d. em. 95,000
Explanation:
Let, value of machine before 2 years = x Rs.
xx2x2=75000
100 100
100

x=75000x—— = 92600
9%x9

32. Priya bought a suitcase for I 2,730. The GST for this item is 5%.
What was the price of the suitcase before GST was added?
a. ¥ 2600 b. X 2800 c.X 2700 d. 2650
Wiwr 273066 @ Gl Cserd aummidanT. @&Har W& WwHY g B aufl 5% @b
G gl B euflenws Caid@d (WeitenT SILIGULIQUTleT alenev 6T6oTenT?
a.< 2600 b. X 2800 c.< 2700 d.X 2650
Explanation:
Given: VAT is 5%
If the price without VAT is 100, then the price including VAT is 105.
Now, when price including VAT is 105, original price is 100.

L : : - : ) 100
When price including VAT is 2, 730, the original price of the suitcase = 105 x 2730 = 2,600
0

The original price of the suitcase = 2, 600
VAT = 2,730 — 2,600 = 130

33.In 30 litres mixture of acid the ratio of acid and wateris2:3. What amount of
water should be added to the mixture so that the ratio of acid and water becomes
2:5.
A. 19 litres B. 15 litres C. 12 litres D. 10 litres
30 LT 2 sitenm SIbevd SHeveneuuled Siblevd, Hifler alHHbd 2 : 3. Bdbseveney 2 :
5 et alalgpHIHle0 Dflevpd BHD DHbe Caidbs Gousnigw Hiler Siene] ereie?
A. 19 9L B. 15 &0 LiT C. 12 600 LiT D. 10 et Li
Explanation:
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In 30

2
Acid :gx 30 =12 litres

3
Water :gx 100 =18 litres

2 2
"18+x 5
= 60 =36+ 2x

= 2%=560-36=24
= % =12 litres of water.

34. Find the 4th proportional to 4, 16 and 7

a. 26 b. 28 c.24 d. 22

4, 16, 7-a1 BIGISTUSH QB HHNHE HewiBLIG.

a. 26 b. 28 c.24 d. 22
Explanation:

Let the 4th proportional = N
Then,4:16::7: N
=>4/16=7/N

> 4N =7x16
~N=(7x16)/4=7x4=28

35.Weekly incomes of two persons are in the ratio of 7:3 and their weekly expenses
are in the ratio of 5:2. If each of them saves I300 per week, then the weekly
income  of the first person is
a.X 7,500 b.< 4,500 c.< 6,300 d.X 5,400
@yewih  BUTHEHMLW  UTY  eUHOTEID 7:3 eleiB  alFHHHaID, ety OQFevaieid 5:2
aeip alSHHHevID o eiteniedr.  SleuTHeT @Heau®HG eumgd apuTul 300 CFL0daevmentT
GTRMT60  (Lp&H60 BLIMET GUTT GUHLOTEILD * 6T61I6U6T6Y 7
a.X 7,500 b.< 4,500 c.< 6,300 d.X 5,400
Explanation:
Let the incomes of two persons are 7x and 3x
Expenditure of first person = 7x - 300
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Expenditure of second person = 3x - 300
According to the question,

7z—300 _ 5
3z—300 2
=> 14x-600 = 15x-150
x =900

Income of first person= 7x = 7x900=RS.6300

36. If the ratio formed using the numbers 2, 5, x, 20 in the same order are in
proportion then x is.
a. 50 b. 4 c.10 d.8
2,5,x, 20 w1 eremidmen 9i8% eauflengulsd LWETLGSHS Siemould alldFHnhiEeT alds
FIDTEH G U6t X=?

a. 50 b. 4 c. 10 d.8
Explanation:
2:5=x:20
2 x 40
—=— = x=—=8
5 20 5
37. Ifa:b=3:2,b:c=3:4,c:d=2:3finda:b:c:d
A.3:2:4:3 B.9:6:8:6 C.9:6:8:12 D.3:6:8:12
a:b=3:2,b:c=3:4,c:d=2:3 aafe a:b:c:d -5 smewr
A.3:2:4:3 B.9:6:8:6 C.9:6:8:12 D.3:6:8:12
a b C d
3 2 2 2
3 3 4 4
2 2 2 3
18 12 16 24
9 6 8 : 12

38. If the ratio of father's age to son's age is 4 : 1 and the product of their ages is 196,

then ratio of their ages after 5 years will be

A.3:1 B.10:3 C.11:4 D.14:5
FHHemd MDD EeiaT awgk al&sd 4 : 1 Gued SleuTseT @meufler euuigles
QUMHBGHOBHTME 196 6lalled 5 QUHLEISEHDHEG LleielT SleuTdel Emeufler euuig)
& HLd

APPSO
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A3:1 B.10:3 C.11:4 D.14:5

Explanation:

4xxx =196

4x* =196

, 196
="

x=17

Son’s age =7

Father's age = 28

After 5years 33:12 = 11 : 4.

X 49

39. Mani’s and Vijay’s salary is 4:5 and Vijay’s and Kumar’s salary is 2:3. If Mani’s
salary has Rs. 800 the kumar’s salary is?

a. Rs. 1000 b. Rs. 1200 c. Rs. 1500 d. Rs. 2000
el MWD elguilelr Fbuemd 4:5 BBID aleul WBBID Gfer Fbuem aldflsHbd 2:3.
Loemfluflest &FLbLemd ¢H.800 6lewTleD, (GHLOMH6N FLDLIGMD WITG?

a. Rs. 1000 b. Rs. 1200 c. Rs. 1500 d. Rs. 2000
Explanation:
Mani : Vijay : Kumar
4x2 5x2 3x5
8 10 15

Mani’s salary 8 unit =800
Kumar’s Salary 15 unit = 1500.

40. The product of three number with the ratio 1:2:3 is 750 then the sum of their

squares is

a. 350 b. 600 c. 450 d. 400

P&l eTemIBeMel OLHEGHOBHTmE 750 meuseflent aldlsd 1 : 2 : 3 eefed
9I610aI6ITH6M6T AUTSHBMIS6MET Fn(HFH6D

a. 350 b. 600 c. 450 d. 400

Explanation:
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Let the number be x, 2x 3x

c.x X 2x X 3x = TH0

... The numbers are 510, 15

.". The sum of the squares of the Numbers are = 52 —|— 10‘2 —|— 152

=25+ 100 + 225

= 350
1 11 A -
41. —:—:—=2:3:5,thenx:y:zis
Xy z
a.2:3:5 b.6:10:15 c.5:3:2 d.15:10:6
l:i:l=22325,6'r66ﬂ6i) X1V :Z aeig)
Xy z
a.2:3:5 b.6:10:15 c.5:3:2 d.15:10:6
Explanation:
1 1 1
— i — LCM =30
2 3 5
l><30 : l><3O: l><3O
2 3 5
15 10 6

42. Rs. 400 were distributed among 100 boys and girls so that each boy gets Rs. 5 and
each girl Rs. 2.50. Find the number of boys?

a. 45 b. 35 c.25 d. 60
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h.400-3 100 FmeuT FApdlwimdg UNeHelessiLGsBa. @albeumm Fpeuaib .51
eleur(h  FAmolugd  @5.2.50-b CUBISEGIBEIT  6leNed  FMIeUTHETT 616116001 N HEMLL

&0 3|

a. 45 b. 35 c.25 d. 60
Explanation:

No.of boys = x; No.of Girls =100 - x

5x+2.5(100 - x) = 400
5x+250—2.5x =400
2.5x=150

150

s
No.of boys = 60.

60

43. Ifa:b=5:9andb:c=4:7thena:b:cis
a:b=59 wpp b:c=4:7eaflsd a:b:c oz
a.36:20:63 b.36:63: 20 c.20:36:63 d.63:36:20

Explanation:
5 9
4 7
(5x4) : (9x4) : (9x7)
20 : 36 : 63

44. An amount of Rs.420 is divided among A, B and C in the ratio :%:

NR BN

1
3
part.

4203 A, B woBpid Cah

a.72 b. 85 c. 180 d. 168
Explanation:

:%:%aﬁ]é@&,gﬁ@ Ufsa Qas1heHHTe0,B-601 LkIg wng?

W | —
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l><18:§><18:1><18

3 6 9

6 15 @ 14

B's part = 420 x15
6+15+14
:@XIS
35
=12x15=180

45. A horse and two cows together cost Rs. 680. If a horse cost Rs. 80 more than a
cow then the ratio of cost of horse and cow is
A.75 B. 5:7 C.89 D. 9:8

R Gy oBmD @Feni(h rhsellear orsHsh allewsv h. 680. @ GHlemFulled
allemeowimendl @(h LT Igen alemevedl &l eh. 80 SIFHHD 6T6fled GH T LOTL 19601
alemeoullell alaHLOTEIS]

A.75 B. 5:7 C. 89 D. 9:8
Explanation:

Let the cost of a horse be Rs. x.
Let the cost of cow be Rs. y
x + 2y = Rs.680.... (1)
x -y =Rs.80 ... (2)
3y = Rs. 600
Soy = Rs.200
x - 200 = 80
x =280
x:y =280:200
=7 :5

46. Rs.1,870 are divided among A, B, C such that A gets % of what B gets and B

gets iof what C gets. Then B’s share is
(A)Rs.210 (B)Rs.240 (C)Rs.330 (D)Rs.360
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5.1,870-3 A, B, C sudlwi epaumd@id, B Gumpiaigled %urfﬂa%]mm Auyip, C Gupleugdiev

%Urﬁldﬂ@)&ﬂ B-ujb GQumib euemasuied LSThHerMebHILIGHMBH 6Tele B-6i1 LB et6stenn?

(A)eb.210 (B)ew.240 (©)em.330 (D)emp.360
Explanation:

2 B b33
C

T 4x3 12

TS

3

B : C
3 : 12
1870

=X
2+3+12

=$x3:110x3:330

>

47 . The sum of the HCF and LCM of two numbers is 680 and LCM is 84 times the
HCEF. If one of the numbers is 56, the other is
a. 84 b. 12 c.8 d. 96
Byewi®  elewidbeilent FF@  OUTH LB DiHenr BLIGLmH Curdl  sryewiuler 84
DL RIBTH 2 6T6NSHl. @ 6lewl D6 b o 6feng WBBID WBFHAM GUTEk DLHIG, WBIELH
Ourgl sryenilule gnhsHev 680-a181BI EHHSHTEL WBOMT(TH 6T60T 61636 ?

a. 84 b.12 c.8 d. 96
Explanation:
Let HCF be H and LCM be L.
- ing to questi
Then, L = 84H LTHR=0o
= 84H + H = &8
&80
= = —
85
~L=680-8=672
672 % 8
= Other number =—— =24
hé
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48.Which of the followings is the least square number by which 12, 20 and 25 are
exactly divisible?

a. 100 b. 300 ¢. 900 d. 3600

LNetTeu(pd eTemidbelled 12, 20 wBmId 25 SLev WsF Filwmsd au@GuUBL WaeF FABlw auifshHs
616001 61517

a. 100 b. 300 ¢. 900 d. 36

Explanation:

LCM (12, 20, 25) =300
300 = 100x3
Least Square Number=10°x3* =900

49.L.CM of two numbers is 432 and their HCF is 72. If one number is 144, find the
other numbers.

a. 214 b. 215 c. 216 d. 218
Byewi® etemidpeiiest LCM 432 suab. oueer HCEF syeng 72815 @mbdH, @H  616w1
1445 Qmbsied oibHs elew

a. 214 b. 215 c. 216 d. 218
Explanation:
432x 72
(¢) Let the second numberisx. Then 144 x x =432 x 72 = x = T- 216

50.The LCM and HCF of two numbers are 45 and 3 respectively; their sum is 24,
what is their difference?
& etewiseiledr 10.8.0 wBpId 1B5.6um.eu (BB 45, 3 wBHID SuBBlET FabHev 24
aiedlled Sleuall(hH eTewiHellen alHHUTFHMS HT6wI5H:
a.?2 b. 4 c.6 d.8
Explanation:

(x—y)2=(x+y)2—4xy
(x—y)" =(24)" —4x45x3
(x—y) =576-540=36
(x=)

x—y)=+/36=6
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51.Six bells commence tolling together, afterwards they toll at intervals of 2, 4, 6, 8,
10 and 12 seconds respectively. In 30 minutes, how many times do they toll
together?
6 BT (PHeV6D QRIMBTS DlgHGID. LT Slemed  eelbeureiipid 2, 4, 6, 8,10
BoId 12 aflemgseT Gl Oeuell ol SDigdhG 66amBTe0, 30 HIOLSHH60 615 Hment
(OB DB ewlHelT IBTE CFIHEH 660leH (HoHEHLD?

a. 4 b. 10 c. 15 d. 16
Explanation:

LCM of2 4 6 8 10, 12is 120.

S0, the bells will toll together after every 120 seconds(Z minutes).

In 30 minutes, they will toll together

%H = 16 times

52.Find the greatest number that will divide 51, 99,191 so as to leave the same
reminder in each case.

51, 99, 191 @l eiewidemen 6lhd WL OUfl  6Tewienimed eIGHGW OuTpg g
FIOIOTH  SHlenL_H@GHLD?

a.4 b.7 c.9 d.8
Explanation:

HCF[ (99-51),(191-99),(191-51)]
HCF[48,92,140] = 4

53. The traffic lights at three different road crossings change after every 48 sec, 72 sec
and 108 sec respectively. If they all change simultaneously at 8:20:00 hours, then
at what time will they again change simultaneously?

A. 8:20:48 hrs B. 8:21:12 hrs

C. 8:21:48 hrs D. 8:27:12hrs

P&l CleUeIGaIBIFTEN60F bS5 61T 60T NGRS EE @ RIRIEIEEQ
weBGuweeaiCeureapid 48 alemgsel, 72 alemeseT LMBID 108 alelmgseEndb@Gl  Ller
LOT IS BGI. Slemaleteveom@o  8:20:00 wewlidefled  BIGHIHSHeL  LomnslenTT6V, 6u6T(HLD
alIBuTE:l Siemeu By GBIsHHe0 TMID?

A. 8:20:48 hrs B. 8:21:12 hrs

C. 8:21:48 hrs D. 8:27:12hrs

Explanation:

Given that traffic light at three different road crossing change after every 48
seconds,72 seconds and 108 seconds respectively.
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48 =2x2x2x2x3

72=2x2x2x3x3

108=2x2x3x3x3

Hence LCM of 48, 72 and 108 is (2 x 2 x 2 x 2 x 3 x 3 x 3) =432
That is after 432 seconds they will change simultaneously

432 seconds = 7 min 12 seconds

ie. 8:27:12hrs

54.Mary, Fathima and Seetha started running on the track at 4 p.m. and took 6
minutes, 30 minutes and 5 minutes respectively to run around the track once. If
they continued at the same speed after how much time will they meet at the
starting point again?

a. 90 minutes b. 60 minutes

c. 30 minutes d.120minutes

Guofl, uTHFHoT BB FHT  HHOWTT  FHLuTNHFHeD  LOTeweL 4 ewidhG
PLSOSTLRISOT. @(h (OB SLTNHmS &Lbd 6, 30 wwBpbd 5 HOLBS6T
SalTHEHHEG CHmaui’ L gl. uTHeT 6s CaussHHeL QL HOBHTL RIS@ITD, DIeUTHEN
SIL - B Hms SewLwl  cperyl Cupd  abhSHHS  OameTend GBI eleleeTe]
IO SHS FnBIH

a. 90 PiL_misel b. 60 PO Eiseit
c. 30 Bl misel d.120 P miseit
Explanation:

LCM of 6, 5, 30 = 30 Minutes

55. Find the LCM of 12 (x - 1)3 and 15 (x - 1)(x+2)?

a. 60(x-1)3(x+2)? b. 60(x-1) c. 3 (x-1) d. 3(x-1)3 (x+2)2
12 (x -1)3 wBpid 15 (X - 1)(x + 2)? &1 15.8..0 ST6ewics.

a. 60(x-1)3(x+2)? b. 60(x-1) c. 3 (x-1) d. 3(x-1)3 (x+2)2
Explanation:

LCM of 12 (x - 1)3 and 15 (x - 1)(x+2)?=60(x-1)3(x+2)?

56. Find the G.C.D of x2+ 2xy +12, (x+y)3, 25(x% - 1)

a.x+y b.x-y c.-x+vy d. -x -y
x2+ 2xy +12, (x+y)3, 25(x2 - 1?) - et 15.60UT.0u BTN

a.x+y b.x-y c.-xt+vy d. -x -y
Explanation:
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X2+ 2xy +y2=(x+y)?

25(x2 = y?)=25 (x+y) (x-y)
G.C.D of (x+y)%, (x+y)3, 25(x+y)(x-y) =x+y

57. LCM and HCF of two polynomials are x¢ - 1 and x + 1 respectively. if one of the
polynomial is x3 + 1 then the other polynomial is
A.x3-1 B.(x*-1)(x+1) C. x6-1 D. (x6-1)(x+1)
®m usomIlIsh Bamemeauseflen 15.0um.0 wB@ID 15.0uT.en SpFwier (WedmGW X6 - 1
LOBBILD X+ 1 ga. @ Casremar x3+ 1 eefled 1oBOBTEH CHmTemal 61517
A.x3-1 B.(x*-1)(x +1) C. x6-1 D. (x6-1)(x+1)
Solution

HCF=LCM

Given Number

Other Number= &*DXG+D _ (x+ D@+ -D) _ (x3=-1)(x+1)

Other Number =

(' +1) (x'+1)
58. LCM.of 222 L s
39612
1 35 140
a. W b. Vi c. 3% d. 1407
%g % 12 SpFwuBlen WEFFM CUTHIOL MG
1 35 140
a. 48 b. A6 C. A d. A
Explanation:

LCM of numerator
LCM of fractions =

HCF of denominator
L.C.M=(2,45,7) =140

H.C.F=(3,9,6,12) =3
L.C.M =140/3

59. The numbers are in the ratio 15:11. Their HCF is 13, which of the following pairs

can they be?

@reni(h etewideT 15:11 el  aldSsHHHleveTen Siemeuseller L5.6uT.eu 13 ereied, &G
CaTHHHLILLL  6lemiHeMed 6IHleUTd @(HHS (LpIQuUD?

A. 194,143 B. 195, 142 C. 195,143 D. 196, 144

Explanation:
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The numbers are, 15*13=195 11*13=143.

60.A number when divided by 221 gives a remainder 43, what remainder will be
obtained by dividing the same number 17?

a. 11 b. 10 c.9 d.5
QT elewiemennl 221 o0 UGHSGD OGuTpgd 168 43 S sFmH, O6FH erewTenemt
178160 UGBS GUTIH HML &G 18 wirg?
a. 11 b. 10 c.9 d.5
Explanation:
x =221 + 43 =264

264 + 17 get the remainder =9

61.The product of n consecutive positive integers is divisible by
SIbHHbHHH N elewicnidbmaeien GCpflenL (WpdHHellar OLHHBMBLIGOITEIH  61H6IT60
aUGLBLD?
a. (nt+1)! b. n! O)(n-1)! D)(n+1)(n-1)
Explanation:
IX2X3x4x5X.....Xn=n!

62. A number is doubled and 9 is added. If the resultant is tribled, it becomes 75
what is that number ?
a.3.5 b. 6 c.8 d. None of these

Q(H elewiewlall @(H WLMIGLAT 989 &nl'lp 6UHLD elenL  (LPLDIOL MISTS  LOTHBMLUILIL L TV
AU allewl 75 elefled, OIHSH 66wl WITGHI?

a.3.5 b. 6 c.8 d. eigiadledenev
Explanation:
Let, Number be x.
3(2x+9)=75
(2x + 9) = 7
3
(2x + 9) =25

2x=16 = x=8

APPSO
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63. Which of the following is/are true?

1. All divisor of a number are also factors for that number

2. All factors a number are also divisors for that number

3. All divisors of a number need not be factors for that number

4. All factors of a number need not be divisors for that number

a.2, 3 b.1,2 c.1,2,3 d. All the four

HpH eI aUBmIeT 61k / eleweu gfluimerg?

1. T ocTeuwTenfledl 6T6L6VT UGHHHBEDHID DI610I616TT6U0N 6T BT 6HNSHENTEHLD

2. QT cleuoTenlledl 6T6L6VT HTJ6UNHEHID DI6NCIECIET6NTNEET  61(EG)EHIHHENMTEHLD

3. @  oclewiewiledl 6160601  GUGHSHBEHD  DleUGeucwienlledl  SHTTewILTES  BDHHBHSD
Bxmemeuuisvenev

4. @  clewiemiledl  616D6VT  SHMJeNBEHD  DleUbeUewTIENET — UGSHHHWTE  DHEDSH
Bz emeuuisvenev

a.2, 3 b.1,2 c.1,2,3 d. emarsHsibd

Explanation:

Divisor can be any number with which you want to divide another number

(dividend).

A factor however is a divisor that divides the number and leaves no

remainder.

So all factors of a number are its divisors. But not all divisors will be factors.

64. Which of the following number is divisible by 9?
BB OBMHSHBLILIL ([H6iTerm 6T6mIHeilled 960 aUGUBLD 6TemT WITGHI?
a. 8576901 b. 96345210 c. 67594310 d. 2784224
Explanation:
A number is divisible by 9 if the sum of the digits is divisible by 9.
8+5+7+6+9+0+1=36 is divisible by 9

65. The Largest, 4-digit number exactly divisible by 88 is

a. 9944 b. 9768 c. 9988 d. 8888
88-60 UGULS &nigul Wl GQuilw mHrerd Sevdbs elenl 6157
a. 9944 b. 9768 c. 9988 d. 8888
Explanation:
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Largest 4 - digit number = 9999
88) 0000 (113
88

119
83

319
264

55

Required number
= (9999 — 55)
= 0944

66.A number consists of two digits whose sum is 9. The number formed by
reversing the digits decreases twice the original number by 9. Which is that
original number?

A. 63 B. 36 C. 62 D. 26

RT Bm Bevdd olewienlel @eVdHIMmGT L (BHLLIVET 9. EeVHBmISmET G LD
LOTHBHINSHET  CLPVLD 2 (HaUTGWD UFHuwl  eTewieniedl  OGHUILTIH  IhHHIdH  OPHmeunrL
mfleudbs  elewiemilest WIS  QH  WLBMSAIL 9 (GHOBUTHBH 61660
dBHHIHOBTNIL Fllevdd 616w 61517

A. 63 B. 36 C. 62 D. 26

Explanation:

Solve from option;

If original number = 36. Twice the original number =72

Reversing original number=63.

72-63=9.

That original number is 36.

67.The average of 5 no’s is 120. Later it was found that instead of entering correct
value 15, data is wrongly entered as 5. Find the new correct average

APP L0
28 | Page  www.appolosupport.com PH: 9840226187. STunY




APPS LD

sTupy

5 etewigerenr ggmam 120 ou@b.  UetenT SeuBmled @b etewl 15 e16iim &ifluimeor
waHlliemu oG 5 61aIB SHeumme LTS 6ibHHl ST Heusbdl L N ubHHI.
ygHw gflwmer gymem  eTeiteor?

A. 120 B. 125 C. 126 D. 122

Explanation:

5 nos avg is 120

given on value written as 5 instead of 15

so error is 15-5 =10

10 /5=2

New correct avg = 120+2 =122

68.The average of 11 results is 50. Average of first 6 results is 49 and that of last 6

results is 52. Find the sixth result.
11 wyasefler ggrafl 50 ouGb. (WHO W (e sefer sgrafl 49 1oB@IDd HewLd 6
e sefler gyrafl 52 elefled 66Ul (IPI96)] 6T6vT60T?

A. 58 B. 57 C. 56 D. 55
Explanation:
The total sum of 11 results = 11 x 50 = 550
The total sum of first 6 results = 6 x 49 = 294
The total sum of last 6 results =6 = 52 =312

= Sixth result = 294+312-550 = 56

69.The average of all the number between 6 and 34 which are divisible by 5
6 (PFH6L 34 QUM 2 66N 5-8160 AUGLBLD DIHTHS! 6T6wIH6M 6T FITSH

a. 30 b. 20 c.25 d. 40
Explanation:
Average = ( 10 + 15 + :?.'FU + 256+ 3D} _ 1{3{] _ 90
o) o]

70. What is the difference between the sum of first 'n odd natural numbers and that of
first 'n' natural numbers?
e ‘N’ eBos  Bued daiselar  FmBHMBGD  (PpHe0 N Buied  eTewTber e
FBHNHGD 2 66N AlSHHUWITEFD 616576017
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a My b. n(n-1) c. n(n+1) d. n(n+1)(2n+1)
2 2 2 6
Explanation
sumof first'n’ oddnos = n?
nin+1)
sumao f first'n'naturalnos 5

n? +n

Difference = n? — | I

B2

m

71. The average age of 50 students in 10thstd class is 15 years. 10 more students are

72.

admitted a fresh in the class and the average age is increased by 0.5 years. The

average age of the newly jointed students is
a.15 b. 16 c. 17 d.18

10-0 eu@ly wrewiTdhaTHemer 50 Guiler gymaf oBemeu 15 Su@W. 10 DTERITHHTH6N
yHsres Carédsuul L et  ggrafl  oimemel 0.5 Sewip  SHSMNHSHH. UHHTH
Gaiablul L  oTevalToeller Fyraf oidemneal

a.15 b. 16 c.17 d. 18
Explanation:
The average age of the newly jointed students =
15.5%x60—-15x50 930-750 180

= = =18

10 10 10

An employee spends on an average Rs. 2,500 for the first 8 months of a year and
Rs. 1,500 for the next 4 months. If he saves Rs. 10,000 that year, then his monthly

income is Rs.
a. 2,500 b. 3,000 c. 2,600 d. 3,200
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@(H LIGWIWT6NT 6U(BLSHH G (LpH6e0 8  LOTHMmISH6I60 &Urr&rﬂquras th. 2,500-b, SIbSHH 4
LOTSHMIG6N60 FITgMwms h.1,500-0 GFevey OCEFWUIHDBIT. SeuT HHH Dewrged . 10,000

BFOSHHMT 6IHIMBTED, SlOUTSHI OTH eFHUID LG LD.
a. 2,500 b. 3,000 c. 2,600 d. 3,200
Explanation:

The average spend of an employee for first 8 months = Rs. 2, 500
Therefore, he total spend in first 8 months = 2, 500 x 8 = Rs. 20, 000
And, the average spend for next 4 months = Rs. 1,500

Therefore, he total spend in next 4 months = 1,500 x 4 = Rs. 6, 000
So, he total spend in a year = 20,000 + 6,000 = Rs. 26,000

If he saves Rs. 10,000 that year,

Then, the total earning in that year = 26,000 + 10,000=Rs. 36, 000
Thus, his monthly income = 36,000/12=Rs. 3, 000

73. Which of the following is arranged in correct ascending order?
LevTeu(hHeueToUBMIT 6% FMWmeT emiauflenguled SIenLObHEHIeT6NSI?
A. 25% of 8, 40% of 6, 30% of 9, 20% of 15
B. 20% of 15,25% of 8, 30% of 9, 40% of 6
C. 30%0f9, 40% of 6, 25% of 8, 20% of 15
D. 20% of 15,30% of 9, 40% of 6, 25% of 8
Explanation:
25% of 8= 200 _
100
40x6
100

30% of 9= 07
100

40% of 6= =24

=2.7

20% of 15 :@:3
100

Option A is corrct.

74. The numbers of Prime factors in 2222 x 3333 x 5555 ig

a.3 b. 1107 c. 1110 d. 1272

2222 3333 x 5555 _gf1 UG HMIJ 6001 b6ITI60T  6T6U0T600T] b 6M b

a.3 b. 1107 c. 1110 d. 1272
APR& 10
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Explanation:

The number of prime factors in the given product

= (222 + 333 + 555)
=1110.

75. If the product of two number is 5 and one of the number is%, then the sum of the

numbers is
a. 41 b. 4%
3 3

C.

42
6

Om eewisaiel OLUBSESGSSH OHTemsd 5, Seumpsled

Fn(HHELTEIFHI.

a. 41 b. 42
3 3

Explanation:

3 10
XX==5 = x=—
2 3

10

Sum of two Numbers = E+? ==
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c. 42

6

9+20 29
6 6

P 6T

5

or 4—

6
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